DPTIDYY 190 11 MM N :IPNIAN ND SN NN
D»IVDPN DN M .3 TN TIVN
279, YUN VP 7°NAN TN
314,035804  )ORWN 190N
TIY TN 47D MINNDI 9T :NOD)

APPONNN
PYUNRI PORY — 711200 M1Ins 4
N MININ

SN MYV VdY OYDANYNn X

DP9 WY Y NORYA 102NN DDA NINRYN DA .3

SPODIN I0NING,TIAOR —  PURIPID

mTpy 40— 20x2 — mIAnon
I00ITIDY PIDDINY — MY PID

mmPy 20 — 20x1 — B\ ZpAn!
mmMpy 40 —  20x2 — DMOPRIINNIIDTNIVN — OOV P10

mmpy 100 — 3o
WY IMN NYINN D
190D 110 PAYNINT TN NPYIVORT WNNWRY PR 29N RO Pavnn (1)
NN N0 01732 %Y PAYNND MIDNN NMIWONRIIN 97 NIAWNNDL LINY

(oM¥n) MRNDN ST (2)

HTNYR MR T

L7353 MI90N NN I ;IYRYD IR NN OX - (1)

IURD DA,PINST >A5W DN NIANND DA .WTN Tya NoRy %3 9nnn (2)
NIAYNN NRYA DOYNIAND DXL NN
JITIDMY N2 TR VYO ,D01eN Y912, PMnYe 2 NN 120N
1M1 NYPDAY N N Y0 DY DI0Y D18 10N

1NN IIANNna wRnwns v norvd  (3)
NPNAN NP0 DN DIVY HINR LY YWY

STPRD D2INAITY MINZID MINIOM 937 P2 MNDNN Y PONWA NPNINN
Innovsna

49777290 9wnn



NaD) + 314,035804 'D1 3 TN .1"YWN V2 ,0D00IN0 -2 -

NIbNwn

LT3 DI VIPOI ,DPIYN B9 PMIYe Y N vaon  1aY oW

NN NYP09Y IN 1183 1Y229Y DINY by 0P 10N

(MMP240)  MMIANDN ,MVLIDIN DIVNINY ,NIIIN — PUNA 799

AMMP) 20 — noxw YY) 3-1 MbRWIN DPNY Sy My

JNNANNIY MNWRIN MDWND SHY PIIPTI MONY SHIWN 90 9y myn DX 1Ay oy

D»DIONT TPREN ,NNDIN 112D Y0219 MDY 13T AMIP ANYN POA

SOOPYW X NNINN DY PN I ANV ND 29

NN O PN w40 72 M 70 IPRYN YW RN

SN PN 200 70 DPDIINN YY PRNMm

DR neby P31 TP MANT DN DPOINN DY PNRN D NI

A 5NN vacN 19 My 30% Sw Ann N7 YR NNYR Poa

NP NP V9 MY 20% Sw NN

2WOUN IR VD NAY 25% Y AN

D2opw 274 DY1I9N NLADY MY NS T

IV NO 092 DDA PR 7 AN

52101 DPNRHN NI INYI NDA DPV1IDA IWDY DY 59190 PR P70 DHRX 1071
7NYN PO »9Y

N

. LABC = 90° v mnirw whwn nm

X

CAC YOND DN TIN RN

A C

. C Ampm S DMywin TIN NYD
ABFITAC, ABIICF) s%apn xin BACE y2mn » pns
L F Mo Sy o nyowi N xen

. BACF mbapnn Sy nown NN xsn

43 Tmyaqunn

y . 3x —4y =12 wndy nnon AB yoxn

B "Mpia x 70 vy IR MmN Wwon
B D ampa y ey
X TN Aapn AC yhxn
D (¥ nxg) AB yoxn ysnx xon D ampan
N

J

»

[



NOD + 314 ,035804 DN .3 TYIN ,1"YWN OP ,APP0NNN -3-

THPOND DXTAVIN INTHI DL DTNNA (M3 / DN DI e .3
NODIDNIND DDITIOVDT DTN WNT WY v
M IRWM D22 DN TP 40%

3
J2 TN DON IRYM /N TRV DN DMINN 7

IR THVNI MANN IRYM T TIVINI THINN NI %

IRINNNDI DA DNR INRYD X

(P2 /72) /R T0902 PINORIPRIIND TGN A .2
213 NINY TIANDNN >IN

{712/ 001) No NN DTMY 4 RIPRAINT D

7R T0YINA DOIMN DIPYNND INVPY TN 0

(MMP320) YN D*I0MINNIIVY TPIVMINY — N PID
S5-4 bRen nnx by Ny

NIANNAY ANWRIN NDWNN PIPTDN,INR DORWHD NP Sy Myn DX 1A 0w

AL T o ne by imnnmmpm ok enBanpy 4
E L Dawnin Sy nxeny pom, 1 2avpin o zon © nni
I D3mn 5y mxsny Ey A mmpsn
.EB=EA -v P
D D nmpn 1 Swvnn axamn AC amnn
vy rn)

LAEBC = AEDC inowin N
/ LF iz AB amppp nxgmn EC amnn 2
/ . AEBF ~ AECD (DO

44 7ny1qu0n

II




NOD) + 314035804 "D A TN .1"YWI VP AP0NIN -4 -

SsynaDion (ABIIDC) ABCD w5
(N x) R orTn O sy
A B

. LAOB =135 , <DOC =45° :pm

0)
.LBOC nxNyn (1) &
. SBAD nrNyn (2)
N0 13.065 Nnown s pm a3
D C

R nx ryn
. DOC vmwnn nows my AOB vSwnn nbw »d arIn )

CABCD 19900 nbw IRNYD T

;0910199919 DY 299302K3 FDNONIIDMT PNAWN — WY P
(MTP240)  WIINY NPEPND DY) NHLIPYI NPEPND DY

AT 20 — noxe H3D) 8-0 Mbxwan DYIW Sy MY

SDaANNIAY MNYXIN MDYWHN DY PIIPTI» ,MYNY OV I Yy Myn DX 1aY ooy

LX 99 PN f(x) =8(2x — 1)3 wypnan anm .6

DPN DY f(X) PXPNON G OU PPN MDPI IR KR (1) X
ANOo v D) (X)) PN DY AT NPOYTHOMND DR XYY (2)

X)) PEpNon YU NvpoLYID A

WP RN Z(X) PYPNSI DY g )
L3N DY f(X) PIPNON 9 OW PN MTIPI T 1Y 7 W
IO IRNWN IR RYD (1)
. f(%) oW VN NN g(zl[) SY IV N NN (2)
TUOTTIT DY SN 20T WA N IR XY (3)

LX) NPNan 9737 O

<45 Ty wnn



NAD) + 314,035804 'D1 3 TYIA .1"YWN VP NROONNN -5-

o 4x+1
AX) = 5 NPNON DY 9NN N PIadw Na
ax” —2x
VNIV NN A

LA DU TWIIINRYD X

T 2,2D900 0y M, a =1 380

MDA DIINH NI XD .34

)

A(x) oxpnon by
SYNTPN MOYIOMINN INRYD )
Lf(x) ypnan
DPYY MINNHA MOVIVIPORIN D (1) .7
? £1(X) PN NNPNO S
1 (x) DI NIPN N HY NYPO LLID  (2)

LO0<x<2oinma

oy x¥m ABCD yaonnbw B MpTpn
AX)=v2x — 4 ospnangmn

x =10 3w Sy nnnn AD yoxn

/ X NSy nnnn DC yoym
(PN N

F C D X
B nmpn vy e DI N

Y0°0Pn i 12900 NLYY ST
Ly X)) F mipaa x ey aramin f(x) mspnangny A

DYopn X ABCD 12%nn now qwxa BEC vwmnin now Nr Rsp

PTIWNA YNY PRYNY DN 10y

Innbsna

SN NPTNY NMNY DINBN M
PPN TIUND MY NOR D9 N PPIVINY PN



